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p) 2,647,278 2,490,605 156,673
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ZH 2,287 0 2,287
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301 et A= 1,000 0 1,000
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01 M=l 45,865 41,365 4,500
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O3 &l &#Hl SXas Z 35,000,000 5,000 7,000 22,000
SEINA 418,365 470,365 A 52,000
401 A EHIL 201 351,000 403,000 A 52,000
01 Al£Hl 348,000 400,000 /52,000
OB 2 =X &2 L MEX &4
2 & 178,000,000& 178,000 200,000 A22,000
OBALST +2ATH L ZEE 257 AX
S At Z & 170,000,000 170,000 200,000 230,000




F1HY Ol
= =012

H> O Ji

0 >

;

fon &

B
0x
i g

-

b

S
ooox

M« B2 - S2(3H) - MRAY - BaS arey p/E-T" HRE2
= x4 2 e 795,904 717,904 78,000
Bo| TAl =4 795,904 717,904 78,000
101 Q1214 200,000 204,000 ~4,000
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